
Item Number Quantity Description
2601-90032 1 Double Height Case
5101-90133 1 Screw Prep/Insertion Tray 1
2901-90051 2 Ratcheting T-handle
5101-90131 1 Cannulated Lumbar Probe with Inner Stylet
5101-90002 1 4.0 mm Tap
5101-90003 1 4.5 mm Tap
5101-90004 1 5.5 mm Tap
5101-90005 1 6.5 mm Tap
5101-90006 1 7.5 mm Tap
5101-90007 1 8.5 mm Tap
5101-90161 2 Locking Polyaxial Screw Inserter
5101-90167 1 Inner Dilator, XT
5101-90168 1 Outer Dilator, XT
5101-90171 2 Screw Inserter Sleeve, XT
5101-90120 2 Screw Cap
5101-90134 1 Screw Prep/Insertion Tray 2 
5101-90126 1 MI Rod Caliper, XT
1001-90053 1 Cannulated Drill
2901-90050 2 Ratcheting Palm Handle
101-90039 1 Rod Introducing Forceps

5101-90023 1 Cannulated Power Driver Attachment - Jacobs Chuck
5001-90019 4 Alignment Guide
5101-90141 1 Tab Removal Tool
5101-90130 1 Screw Cap Removal Tool
2601-90034 1 Tray Lid
2601-90032 1 Double Height Case
5101-90136 1 Rod/Set Screw Insertion Tray
5101-90159 2 Rod Inserter
5101-90129 2 Provisional Split Driver, Size 30



5101-90106 1 Torque Limiting Shaft, XT, Size 30
2901-90133 1 Torque Limiting Handle 90 in-lbs
5101-90107 1 Height Adjustment Driver, Cannulated, Size 25
101-90051 1 Anti-Torque Handle

5101-90127 1 Anti-Torque Stabilization Tube
5101-90128 2 Recovery Alignment Tool
2901-90168 1 Torque Indicating Wrench, XT, Size 30
5101-90138 1 Rod Implant Tray, 5.5 mm, Extended Tab
1001-E5530 2 Bulleted Contoured Hex End Rod, Ø5.5 x 30mm
1001-E5535 2 Bulleted Contoured Hex End Rod, Ø5.5 x 35mm
1001-E5540 4 Bulleted Contoured Hex End Rod, Ø5.5 x 40mm
1001-E5545 4 Bulleted Contoured Hex End Rod, Ø5.5 x 45mm
1001-E5550 2 Bulleted Contoured Hex End Rod, Ø5.5 x 50mm
1001-E5555 2 Bulleted Contoured Hex End Rod, Ø5.5 x 55mm
1001-E5560 2 Bulleted Contoured Hex End Rod, Ø5.5 x 60mm
1001-E5565 2 Bulleted Contoured Hex End Rod, Ø5.5 x 65mm
1001-E5570 2 Bulleted Contoured Hex End Rod, Ø5.5 x 70mm
1001-E5575 2 Bulleted Contoured Hex End Rod, Ø5.5 x 75mm
1001-E5580 2 Bulleted Contoured Hex End Rod, Ø5.5 x 80mm
1001-E5585 2 Bulleted Contoured Hex End Rod, Ø5.5 x 85mm
1001-E5590 2 Bulleted Contoured Hex End Rod, Ø5.5 x 90mm
1001-E5595 2 Bulleted Contoured Hex End Rod, Ø5.5 x 95mm

1001-E55100 2 Bulleted Contoured Hex End Rod, Ø5.5 x 100mm
1001-E55110 2 Bulleted Contoured Hex End Rod, Ø5.5 x 110mm
1001-E55120 2 Bulleted Contoured Hex End Rod, Ø5.5 x 120mm
1001-E55130 2 Bulleted Contoured Hex End Rod, Ø5.5 x 130mm
1001-E55140 2 Bulleted Contoured Hex End Rod, Ø5.5 x 140mm
1001-E55150 2 Bulleted Contoured Hex End Rod, Ø5.5 x 150mm
1001-A55150 2 Bulleted Straight Hex End Rod, Ø5.5 x 150mm
1001-A55175 2 Bulleted Straight Hex End Rod, Ø5.5 x 175mm
1001-A55200 2 Bulleted Straight Hex End Rod, Ø5.5 x 200mm



1001-A55225 2 Bulleted Straight Hex End Rod, Ø5.5 x 225mm
1001-A55250 2 Bulleted Straight Hex End Rod, Ø5.5 x 250mm
1001-A55275 2 Bulleted Straight Hex End Rod, Ø5.5 x 275mm
1001-A55300 2 Bulleted Straight Hex End Rod, Ø5.5 x 300mm

101-90143 1 Rod Template, 400mm
5101-90039 1 Set Screw Caddy
2901-10001 20 Everest Set Screw
2601-90034 1 Tray Lid
2601-90032 1 Double Height Case
5101-90145 1 Screw Caddy Tray, Extended Tab
5101-90140 1 Screw Caddy, Extended Tab
1301-90126 1 Diameter 5.5 mm Button

E5112-05535 4 Polyaxial Screw, Extended, Ø5.5x35 mm
E5112-05540 4 Polyaxial Screw, Extended, Ø5.5x40 mm
E5112-05545 4 Polyaxial Screw, Extended, Ø5.5x45 mm
E5112-05550 4 Polyaxial Screw, Extended, Ø5.5x50 mm
1301-90127 1 Diameter 6.5 mm Button

E5112-06535 8 Polyaxial Screw, Extended, Ø6.5x35 mm
E5112-06540 8 Polyaxial Screw, Extended, Ø6.5x40 mm
E5112-06545 8 Polyaxial Screw, Extended, Ø6.5x45 mm
E5112-06550 8 Polyaxial Screw, Extended, Ø6.5x50 mm
E5112-06555 8 Polyaxial Screw, Extended, Ø6.5x55 mm
5101-90140 1 Screw Caddy, Extended Tab
1301-90128 1 Diameter 7.5 mm Button

E5112-07535 4 Polyaxial Screw, Extended, Ø7.5x35 mm
E5112-07540 6 Polyaxial Screw, Extended, Ø7.5x40 mm
E5112-07545 6 Polyaxial Screw, Extended, Ø7.5x45 mm
E5112-07550 6 Polyaxial Screw, Extended, Ø7.5x50 mm
E5112-07555 4 Polyaxial Screw, Extended, Ø7.5x55 mm
1301-90129 1 Diameter 8.5 mm Button

E5112-08535 2 Polyaxial Screw, Extended, Ø8.5x35 mm



E5112-08540 4 Polyaxial Screw, Extended, Ø8.5x40 mm
E5112-08545 4 Polyaxial Screw, Extended, Ø8.5x45 mm
E5112-08550 4 Polyaxial Screw, Extended, Ø8.5x50 mm
E5112-08555 4 Polyaxial Screw, Extended, Ø8.5x55 mm
2601-90034 1 Tray Lid
2601-90033 1 Single Height Case
5101-90144 1 Auxiliary Tray
2901-90025 1 French Rod Bender, Ø5.5/6.0
2901-90169 1 Set Screw Removal Wrench, XT
5101-90177 1 Rod Pusher
5101-90153 1 Tab Rescue Extractor
5101-90160 4 Tab Reduction Tunnel
1001-90174 1 Quick Connect, Hex Wrench
1001-90173 1 Anti Torque Handle, MIS Rod Reducer
5101-90179 2 Recovery Reduction Tunnel
2601-90034 1 Tray Lid
2601-90032 1 Double Height Case
5101-90137 1 Compression and Distraction Tray
1501-90011 1 MI Angled Compressor
1501-90014 1 MI Angled Distractor
2601-90034 1 Tray Lid


